0-010 0000067000000 0O0O@DO24000)

(@)
1
€y
-1 150> 150>=<260mm 10 20
60
@
-1
-1
(kg/m*)
(- m |(cm) ()
1 ()
V=L/t-t,) (1) 40 |16 |58.5[42.0|162(277|784| 1071 [1.4
VA (mis), L : (M), ty: 40 |15 |51.2(47.0|155|303|857| 983 3.0
(). ty: (s) e
7.7
10 12 14 2
J\/v—ooo
=
Q] R P poo
N—
©)
10cm 15cm  20cm
-2
ST ///
10cm 15cm \\
N
20cm
-1
300-2612 387 029-865-1779

-19-




0o-010

00000670 00000D0O((@MO240090)
15cm 10
_3 :\8
°
<6
2
R 0.93 4
2 ——&10cm  ——d-15cm |-
d=20cm @ —— e
o —m—t 1y
(€D) -.00001 00004 00009 00014
2 sec) 14
A-BL,B-BL 5 2
150>< 150> 260mm
5 T
-1 [ 00015V :
—~ [ |oy=0.073e" |
< 4 e B
@) E 1 R =093 |
N L |
=2 3 L :
15cm 10.5 (A-BL ) o |
125 145 165 245 2 T |
1 1k i
0 |
0 1000 2000 3000
(3) Vv m/S)
-3
-4
5
(2) [ 0.0018V
g4 [|O1=0070e"
o, =0.07e% &) £ R* = 0.93
3 L
o (N/mm?), V m/s) b
2 ,,,,,,,,,,,,,,,,,,,,,
%)
L OA-BL
0 B-BL
@) 0 —
-5 0 1000 2000 3000
17 \Y m/s)
3.4N/mm? 2. 7N/mm? -4
L 5 ‘ :
£ —1—A-BL |
4
> —0—B-BL |
6 3 1 O/v/o &
20 D/D/D/D
N
. | |
5 10 15 20
1) h
2009 -5

- 20 -

15

1.0

0.5

0.0

-0.5

-1.0

Volt)



